
versione 0
Equazioni differenziali - 0
Simplify@DSolve@8

2 y''@xD + y'@xD � 6 + 10 Sin@xD,
y@0D � -2, y'@0D � 0

<, y@xD, xDD

99y@xD ® -4 + 4 ã
-x�2

+ 6 x - 2 Cos@xD - 4 Sin@xD==

Funzioni di due variabili, punti critici - 0
g@x_, y_D := x2 * ã-x+y2;

f@x_, y_D :=
1

4
g@2 x, yD; Expand@f@x, yDD;

Print@f@x, yDD;
grad = Expand@8D@f@x, yD, xD, D@f@x, yD, yD<D;
Print@gradD;
Print@Solve@grad == 80, 0<, 8x, y<DD;

H@x_, y_D =
¶x,xf@x, yD ¶x,yf@x, yD

¶y,xf@x, yD ¶y,yf@x, yD
;

Print@Simplify@MatrixForm@H@x, yDDDD

ã
-2 x+y2 x2

92 ã
-2 x+y2 x - 2 ã

-2 x+y2 x2, 2 ã
-2 x+y2 x2 y=

88x ® 1, y ® 0<, 8x ® 0<<

ã-2 x+y2 I2 - 8 x + 4 x2M -4 ã-2 x+y2 H-1 + xL x y

-4 ã-2 x+y2 H-1 + xL x y 2 ã-2 x+y2 x2 I1 + 2 y2M

Plot3D@f@x, yD, 8x, -.3, 2<, 8y, -1, 1<D
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Integrale doppio - 0



aa = RegionPlotA9x2 + y2 £ 2 && y > 1=, 8x, -2, 2<, 8y, -2, 2<, PlotPoints ® 100E;
ab = Graphics@8

Line@881, 0<, 81, 1<<D,
Line@88-1, 0<, 8-1, 1<<D<D;

ac = GraphicsBCircleB80, 0<, 2 FF;

Show@aa, ab, ac, AspectRatio ® Automatic, Axes ® TrueD
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f@x_, y_D :=
x2

x2 + y2
;

g@r_, t_D := r * f@r Cos@tD, r Sin@tDD;
Print@Simplify@g@r, tDDD

r Cos@tD2

f@x_, y_D :=
x3

1 + y2
;

PrintBExpandBà 1

Sin@tD

2

r Cos@tD2
ârFF;

PrintBExpandBà
Π

4

3 Π

4

à 1

Sin@tD

2

r Cos@tD2
âr âtFF

Cos@tD2
-
Cot@tD2
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-
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2

Numeri complessi - 0
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SolveBã3 t ä � ã
3 Π ä

2 , tF

::t ® -
5 Π

6
>, :t ® -

Π

6
>, :t ®

Π

2
>>

Matrici, autovalori - 0

a =

-2 k 2

k 1 4

2 4 1

; x =

2

4

-5

; y = Flatten@a.xD;

Print@MatrixForm@yDD;
Solve@8

y@@1DD � x@@1DD == y@@2DD � x@@2DD;
y@@3DD � x@@3DD == y@@2DD � x@@2DD

<D

-14 + 4 k

-16 + 2 k

15

88k ® 2<<

k = 2; Print@MatrixForm@aDD;
Print@Eigenvalues@aDD;
Print@MatrixForm@Orthogonalize@Eigenvectors@aDDDD
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m = Orthogonalize@Eigenvectors@aDD;
Print@Simplify@MatrixForm@m.a.Transpose@mDDDD

6 0 0

0 -3 0

0 0 -3

In[49]:= Clear@kD;
Solve@8a.x � h * x<, 8h, k<D

Out[50]= 88h ® -3, k ® 2<<
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